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What should come at place of the question mark (?) in the following number series ?

11 . 18  ,  117  , 643.5  , 2895.75 , ? , 25337.8125

(A) 11225.225 (B)14260.25 (C)8435.125 (D)10135.125 (E)None of these



\
What should come at place of the question mark (?) in the following number series ?

12 . 40320 , 6720  , ? , 336  , 112

(A)1320 (B)1354 (C)1364 (D)1344 (E)None of these



\
What should come at place of the question mark (?) in the following number series ?

13 . 7 , 16  , 12 , 30 , ? , 56

(A)23 (B)24 (C)21 (D)25 (E)None of these



\
What should come at place of the question mark (?) in the following number series ?

14 . 7 , 4  , 6 , 21 , ? , 1200

(A) 132 (B)135 (C)138 (D)136 (E)None of these



\
What should come at place of the question mark (?) in the following number series ?

15 . 729 , 625 , 529 , ? , 361 , 289 

(A)400 (B)676 (C)576 (D)784 (E)None of these



\
What value should come in the place of question mark(?)in the following questions.

(?% of 664 ) ÷ 0.8  = 332

(A)80 (B)75 (C)60 (D)50 (E)40



\
What value should come in the place of question mark(?)in the following questions.

³√226981  = ?² − 3

(A)10 (B)8 (C) 7 (D) 9 (E)None of these



\
What value should come in the place of question mark(?)in the following questions.

544  ÷ 16 × 32 − 766 + 224= ?

(A) 342 (B)424 (C) 546 (D)625 (E)None of these



\
What value should come in the place of question mark(?)in the following questions.

4/7 of  3/11  of  24/13  of  15015= ?

(A)4280 (B) 4320 (C)4480 (D)4550 (E)None of these



\
What value should come in the place of question mark(?)in the following questions.

18.5% of 7200 +  27.8 % of 1800 + 16.6 = ?²

(A) 37 (B)39 (C)43 (D)47 (E)None of these



\

Direction (21–25): In each question two equations numbered (I) and (II) are given. You 
have to solve both the equations and mark appropriate answer.

(a) If x = y or no relation can be established 

(b) If x > y 

(c) If x < y 

(d) If x ≥ y 

(e) If x ≤ y



\
Q.21 :- I. x2 − 9x −52 = 0               II.  y2 − 20𝑦+ 99 =0

Q.22:- I. x2 + 8x +16 = 0 II. y2 − 9 =0

Q.23 :- I. x2 − 13x +40 = 0 II. y2 − 11𝑦+ 30 =0

Q.24 :- I. x2 + 9x +14 = 0 II. 2y2 − 10𝑦+ 12 =0

Q.25 :- I. 25x2 − 7x −18 = 0 II. 22y2 − 19𝑦 − 15 =0



\
Directions (Q. 6-10):- Direction for Question. Study the following information carefully 

and  answer the given questions. The following table shows the total number of 

students studying in various departments in various colleges in the year 2017 and the 

percentage of girls among them.

निम्ननिखित जािकारी का ध्यािपूर्वकअध्ययिकरें और निए गए प्रश्न ोंका उत्तर िें। निम्न सारणी

र्र्व 2017 में नर्निन्नकॉिेजन ों में नर्निन्न नर्िागन ोंमें अध्ययिरत नर्द्यानथवयन ोंकी कुि सोंख्या तथा

उिमें िड़नकयन ों के प्रनतशत के बारे में जािकारी प्रिाि करता है।

Stream Collage - A Collage -B Collage –C

Total % of girls Total % of girls Total % of girls

Physics 250 52% 220 55% 190 40%

Chemistry 200 44% 180 45% 175 52%

Mathematics 140 35% 160 40% 150 38%

Economics 180 55% 175 56% 220 55%

Arts 225 48% 140 35% 225 44%



\

Stream Collage -A Collage - B College - C

Total % of girls Total % of girls Total % of girls

Physics 250 52% 220 55% 190 40%

Chemistry 200 44% 180 45% 175 52%

Mathematics 140 35% 160 40% 150 38%

Economics 180 55% 175 56% 220 55%

Arts 225 48% 140 35% 225 44%

Q.16 :-Total number of girls in Physics department in college B is approximately what 
percentage of total number of boys in Mathematics department in college C?
कॉिेजB में िौनतकी नर्िागमें िड़नकयन ोंकी कुिसोंख्याकॉिेजC में गनणत नर्िागमें िड़कनों
की कुिसोंख्याकािगिग नकतिा प्रनतशत है?

(A)125% (B)110% (C)80% (D)112.5% (E)130%



\

Stream Collage -A Collage - B College - C

Total % of girls Total % of girls Total % of girls

Physics 250 52% 220 55% 190 40%

Chemistry 200 44% 180 45% 175 52%

Mathematics 140 35% 160 40% 150 38%

Economics 180 55% 175 56% 220 55%

Arts 225 48% 140 35% 225 44%

Q.17 :- Find the difference between the total number of boys in Chemistry and Economics 
department in college A to that of total number of girls in Physics and Arts department in 
college C?
कॉिेजA में रसायिऔरअथवशास्त्रनर्िागमें िड़कनोंकी कुिसोंख्याऔरकॉिेजC में िौनतकी
औरकिा नर्िागमें िड़नकयन ोंकी कुिसोंख्या के बीचअोंतर ज्ञातकीनजये?

(A)15 (B)12 (C)20 (D)18 (E)None of these



\

Stream Collage -A Collage - B College - C

Total % of girls Total % of girls Total % of girls

Physics 250 52% 220 55% 190 40%

Chemistry 200 44% 180 45% 175 52%

Mathematics 140 35% 160 40% 150 38%

Economics 180 55% 175 56% 220 55%

Arts 225 48% 140 35% 225 44%

Q.18 :- Find the ratio between the total number of students in Mathematics department to 
that of Economics department in all the given colleges together?
सिी निए गएकॉिेजन ोंमें गनणत नर्िागमें तथाअथवशास्त्रनर्िाग के नर्द्यानथवयन ोंकी कुिसोंख्या
के बीचअिुपातज्ञातकीनजये?

(A)13:30 (B)21:43 (C)18:23 (D)15:13 (E)None of these



\

Stream Collage -A Collage - B College - C

Total % of girls Total % of girls Total % of girls

Physics 250 52% 220 55% 190 40%

Chemistry 200 44% 180 45% 175 52%

Mathematics 140 35% 160 40% 150 38%

Economics 180 55% 175 56% 220 55%

Arts 225 48% 140 35% 225 44%

Q.19 :- Find the average number of girls in Physics, Mathematics and Arts department in 
college B?
कॉिेजB में िौनतकी, गनणतऔरकिा नर्िागमें िड़नकयन ोंकीऔसतसोंख्या ज्ञातकीनजये?

(A)78 (B) 72 (C)84 (D)69 (E)None of these



\

Stream Collage -A Collage - B College - C

Total % of girls Total % of girls Total % of girls

Physics 250 52% 220 55% 190 40%

Chemistry 200 44% 180 45% 175 52%

Mathematics 140 35% 160 40% 150 38%

Economics 180 55% 175 56% 220 55%

Arts 225 48% 140 35% 225 44%

Q.20 :- Total students in college A is approximately what percentage more/less than the total 
students in college C taking all departments together?
सिी नर्िागन ोंकन एकसाथ िेते हुएकॉिेजA में कुि नर्द्यानथवयन ोंकी सोंख्याकॉिेजC में कुि
नर्द्यानथवयन ोंकी सोंख्या से िगिग नकतिे प्रनतशतअनिक / कम है।

(A)12% less (B)4%more (C)12% more (D)18% less (E)4% less



\A, B, and C together started a business by investing 35000, 28000, and 56000 respectively, 
but after six months B and C withdrew half of their capitals and at the end of the year they 
earned a profit of Rs.154000. What is the profit of B in the total profit?
A, B और C िे नमिकरक्रमशः 35000, 28000 और 56000 का निरे्शकरके एकव्यर्साय शुरू
नकया, िेनकिछह महीिे बािB और C िे अपिीआिी पूोंजी र्ापस िे िीऔर र्र्व के अोंत में उन्नोंिे
154000 रुपये का िािकमाया। कुि िािमें B का िाि नकतिा है?

(A)33000 (B) 55000 (C) 66000 (D)77000 (E)88000



\Two pipes can fill a tank in 10 and 12 minutes respectively and a waste pipe can empty 2 
gallons per minute. All the three pipes working together can fill the tank in 6 minutes. The 
capacity of the tank is:
िन पाइप एक टैंक कनक्रमशः 10 और 12 नमिट में िर सकते हैं और एक बेकार पाइप 2 गैिि
प्रनत नमिटिािी कर सकता है। तीिन ों पाइप एकसाथकायव करते हुए टैंक कन 6 नमिट में िर
सकते हैं। टैंक की क्षमता है:

(A)120gallons (B)100gallons (C)150gallons (D)200gallons (E)None of these



\Three members A, B, and C contested the election. 12 ½ % of the votes cast are invalid. Out 
of the valid votes, A secured 24% votes, B secured 44% votes and won by 231 votes with 
respect to C. Find the total number of votes cast
तीि सिस्नोंA, Bऔर C िे चुिार् िड़ा। डािे गए र्नटन ोंका 12 1/2% अमान्य है। रै्ि मतन ों में से, A 
िे 24% मत प्राप्त नकए, B िे 44% मत प्राप्त नकएऔर C के सोंबोंि में 231 मतन ों से जीता। डािे गए
मतन ोंकी कुि सोंख्या ज्ञातकीनजए।

(A) 2200 (B) 2100 (C)2000 (D)1900 (E)None of these



\There are 3 friends Riya, Seema, and Ajay. The age of Riya is 2/5th of the age of Seema while 
Ajay is 12 years older than Riya. The ratio of age of Seema to Ajay is 5:3. Find the age of 
Riya after 4 years.
ररया, सीमाऔरअजय 3 िनस्तहैं। ररया कीआयु सीमा कीआयु का 2/5 है जबनकअजय ररया से
12 र्र्व बड़ा है। सीमाऔरअजयकीआयु का अिुपात 5:3 है। 4 र्र्व बाि ररयाकीआयु ज्ञात
कीनजए।

(A)32 (B) 28 (C)30 (D)27 (E)25



\A works twice as fast as B. B works twice as fast as C. A works 16 times as his efficiency and 
completes the whole in 12 days, how many days would be required for B if he works 32 times 
of his efficiency, and C with 64 times of his efficiency together to complete the same job? A, B 
से िुगिी तेजी से कायव करता है। B, C से िुगिा तेजी से कायव करता है। A अपिी क्षमता से 16 गुिा
कायव करता है और पूरे कायव कन 12 नििन ों में पूरा करता है, यनि र्हअपिी क्षमता का 32 गुिा कायव
करता है तन B कन नकतिे नििन ों कीआर्श्यकता हनगी, और C उसी कायव कन पूरा करिे के निए
अपिी िक्षता के 64 गुिा के साथ एकसाथ?

(A) 6 (B)13 (C) 12 (D)18 (E)None of these
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